AB10X

T or F   If a dud flare is detected, flare ejection is interrupted?  T
T or F   Due to the size and shape of the C05, the four electro-optical sensors can provide only a 300 degree field of protection?  F
The MWS control indicator is mounted at the _______ position.    Pilot's
T or F   The quadrant in which a real threat is detected is indicated by an arrow? I 

An illuminated number (1-4) on the MWS control indicator means a sensor has ________.    Failed

The MWS provides the flight crew with ________ warning.   An audible and visual

T or F   The CDU status indicator provides an indication power is supplied to the CMDS when the mode switch is placed in any position other than "Off".  T

The mode select switch "BYP" position is determined an the switch must be pressed in when selection or deselecting the position .  Forcing the switch past the detent can damage the _________.   CDU

T or F  If the safety switch pins are removed, placing the ground test switch to "TEST/EMERG" will arm the CMDS, which could result in adverent stores ejection.   T

T or F   The CDS requires a 50-second warm-up when started from the "OFF" position.  During warm-up no dispensing is possible.   F

T or F   Emergency flare jettison is not available with the arming switch in the safe position.  F

T or F   The system armed light is controlled through a touchdown relay.  If the light fails to illuminate after takeoff, the ground test switch may be used to arm the flare dispensers.  F

T or F  Placing the mode switch to "OFF" caused any program in progress except jettison to stop.   T

If the CMDS becomes inoperative, the ________ switch must be positioned to "BYP" before dispensing of the stores can be initiated.   Mode

T or F  The CMDS mode select switch bypass mode is considered mission essential.    T

T or F   The CDU jettison switch overrides all select switches in their "on" positions.  Do not move the jettison switch out of the "ON" position unless stores jettison is required.   F

AB14X

The AMC thunderstorm avoidance criteria state that thunderstorms and CB clouds are to be avoided by _______ when flying FL 230 and above.

A.  1000 ft

B.  5000 ft

C.  10 nautical miles
D.  20 nautical miles

Maximum acceptable depth of dry snow on the runway for C-5 takeoff is 

A.  1 inch

B.  1/4 inch

C.  2 inches

D.  3 inches

T or F   Destination weather, prevailing or intermittent, must have a ceiling of 1000 ft or greater and visibility of 3 miles, or 2 miles above approach minimums, whichever is greater.  If these conditions are met, then an alternate must be selected and filed.  F

Which of the following is correct with respect to the weather requirement for the departure alternate.

Given:  Departure base weather is below minimums for return.  Takeoff may be performed safely under AMC criteria.  Alternate is available within 2 hours.  ILS available, approach minimums are 200 and 1/2.

A.  Approach minimums or 200 and 1/2, which ever is greater

B.  RVR >= 16 and ceiling >= 1000 feet above DH/MDA

C.  RVR >= 12 at approach end, RVR >= 10 at departure end

D.  Ceiling >= 700 ft and visibility >= 2 miles

When the runway is wet or icy, the C-5 may not be operated in the crosswind component _________ zone.   Caution

Maximum acceptable depth of runway water, wet snow, slush for C-5 operation is ______

1/2 inch
T or F   Determine the validity of a computer flight plan given the following information:

Given:

Message date/time group
012123Feb 97

CFPI



0322119.1

Valid time span

02/0000-0800Z

Schedule takeoff time

2 Feb 97/0400Z            Ans:  T

Maximum depth of wet snow, water, slush on the runway for C-5 takeoff is:

A.  1 inch

B.  3/4 inch

C.  1/2 inch

D.  1/4 inch

T or F   Takeoff in the CAUTION zone of the runway wind and crosswind component chart can be attempted when the runway is wet or icy.   F

Takeoff from an airfield that is below landing minimums is permitted if a departure alternate is available that meets the AMC weather criteria for such an alternate and departure runway RVR is greater than or equal to:

A.  6

B.  12

C.  16

D.  24

An airfield with a published approach qualifies as a destination alternate provided that the forecast weather meets all the following criteria except:

A.  The ceiling must be forecasted to be equal to or greater than 1000 ft or 500 ft above the DH/MDA or the lowest compatible landing minimums, whichever is higher

B.  The forecast must indicate that the alternate airport has a visibility >= 3 miles

C.  The forecast must apply to both the prevailing and intermittent weather conditions

D.  The forecast must be valid for the ETA, +- 1 hour.

If a departure alternate is available with 30 minutes, its existing weather and forecast for takeoff time plus 1 hour must be at least equal to approach minimums or ________, whichever is greater

A.  200, 1/2

B.  300, 1/4

C.  500, 1

D.  600, 2

Identify the exception, Takeoff from an airfield that is below landing minimums, for which departure alternate is available, is permitted if all the following criteria are met, except:

A.  Approach and departure end RVR is 10

B.  Takeoff runway has centerline lighting

C.  Dual RVR readouts are available

D.  Approach end RVR is 8

C-5 mission will not be planned thorough forecast or known _________ icing conditions.

A.  Light



C.  Severe

B.  Heavy



D.  Moderate

When flying above FL 230, avoid thunderstorms by

A.  20 nm

B.  15 nm

C.  10 nm

D.  5 nm
Identify the exception.  For an airfield with a publish approach to qualify as a destination alternate, the weather forecast must meet the following criteria, except:

A.  Be valid for ETA +- 1 hour

B.  Apply to both prevailing and intermittent conditions

C.  Have visibility of 2 miles, or 1 1/2 miles above the lowest compatible published landing minimum, whichever is higher

D.  Have a ceiling > =1000 ft or 500 ft above DH/MDA of the lowest compatible published landing minimums, whichever is higher

AB16A

Because the C-5 is a heavy airplane, it is important to ensure that climb-route obstacles can be cleared.  AMC policy requires that climb performances be such that all obstacles in the comb-out flight path can be cleared with one engine out.  T

When all engines operating, AMC policy regarding obstacles clearance requires that climb performance be such that the aircraft can be at the required height over the controlling obstacle, when an obstacle or climb rate is specified in the SID.  T

Visibility minimums will be increased ______ statute mile(s) (or as directed by NOTAMS, ATIS, or approach plate) for instrument approach conducted to fields with inop approach lights

A.  1 1/2

B.  2

C.  1

D.  1/2

If the circling approach minimums are not published by aircraft approach category, the minimums can be no less than:

A  300/1

B.  600/2
C.  800/3

D.  1000/2

When not using a wing walker, an obstacle must be cleared laterally by at least 25 feet.  A wing walker must be posted to ensure that the wing tip clears obstacle laterally by at least 10 feet if the obstacle is ________ feet or over in height.

A.  3

B.  4

C.  6

D.  10

The AMC minimums, unwaived runway length is 6000 feet, the runway must be at least 147 feet wide for landing, but at least 150 feet wide if a 180 degree turn is required on the runway.  Those taxiways used after landing bust be 75 feet wide.   T

The normal runway minimum length requirement for C-5 operations is 6000 ft.  For takeoffs, the minimum runway length is critical field length unless a minimum altitude is required at the departure end of runway.  T

The minimum landing runway length required is based on lading distance from ______ feet over the threshold.

A.  25

B.  50

C.  75

D.  100

The C-5A and C-5B standard operating weight used by pilots for mission planning purposes is _________ pounds

A.  332,000

B.  354,000

C.  364,850

D.  375,000

The standard C-5 engine start, taxi and takeoff fuel weight that is subtracted from ramp gross weight to determine takeoff gross weight is

A.  1000 pounds

B.  1200 pounds

C.  1800 pounds

D.  3000 pounds
Allowable Cabin Load (ACL) is defined as the maximum payload that 

A.  Can be carried on a given mission segment

B.  Is permitted to be laded on a cargo airplane

C.  Is equal to the capacity of the cargo compartment

D.  Does not exceed the difference between zero fuel weight and operating weight

The max ramp gross weight for a C-5 mission is _______ pounds

A.  712,000

B.  729,500

C.  732,5000

D.  772,000

AB16A

Solve the problem using AMCPAM 11-2, performance ceiling NRT chart

Given:

Ramp Gross Weight

655,000

Taxi Fuel


    5,000

Overhead Temp Dev

+5C

Overage Enroute Temp Dev 
  Std Day

Determine performance ceiling, +-200 feet.    FL323

The ________ is flight level, based on the 300fpm cruise ceiling, to which the airplane is capable of being flown after takeoff, without regard for the ATC altitude structure and IFR hemispheric rules.

A.  Service Ceiling

B.  Absolute Flight Level

C.  Initial leveloff altitude

D.  Highest acceptable flight level

The AMCPAM 11-2 provides performance ceiling charts intended to determine:

A.  Absolute altitude

B.  Final cruise altitude

C.  Initial level off altitude
D.  Mid-step climb altitude

The following information is used to determine that correct fuel page from AMCPAM 11-2, index chart:


-mach number or calibrated airspeed


-cruise profile, constant or step climb

T
The flight level, based on the 300fpm cruise ceiling, to which the airplane is capable of getting flown after takeoff, without regard for the ATC altitude structure and IFR hemispheric rules, is referred to at the 

A.  Service ceiling

B.  Absolute flight level

C.  Initial leveloff altitude

D.  Highest acceptable flight level

The AMCPAM 11-2 performance ceiling charts are intended for use in determining initial leveloff altitude.   T

Ab21b

The primary purpose of checking the loadmaster’s weight caclculations is:

To ensure the airplane is within weight and CG limits.
The crew briefing is made by:  The pilot making the Take-off
Given the following Before Taxi checklist item:  4. Flaps & Slats - Set

which of the following alternatives should the CP take?  Accomplish the item and           remain silent.

Which of the following status lines indicates that the FSAS/INS is in triple mix?  101 14
The dash 1 contains a caution relating to the HSI  heading and course knobs.  Which is a    part of that caution?  Do not spin in a rapid or jerky motion 

The airspeed command markers should only be used as a reference.  True

ab22x

How does the reverse thrust limiter restrict the maximum thrust available?  By changing the mechanical advantage of the throttles.
During Normal operations, maximum reverse thrust on the ground is limited to use between ___ and ___ knots.  Reverse idle is required at ____.  150 & 60, all other speeds
With the breake switch in Emergency, Accumulator pressure of 1000 psi provides one complete brake application and a fully charged accumulator provides ____ complete brake applications.  Three
The BRAKES light on indicates:  Hydraulic pressure to all brakes
During the Before Starting Engines checklist, the two inboard Elevator Hydraulic power switches are:  Turned off to prevent interconnect unit damage
The Crew Start Report is:  The means by which you receive the total number of souls on board.
ab23x
The flight augmentation system is turned on when the yaw, pitch, and _____ inoperative lights are out.   Lateral
If the pitch, yaw, or lateral augmentation fault light on the annunciator panel is illuminated after the system is turned on, it indicates:   a fault in the system
The purpose of the flight augmentation system is to provide roll and yaw damping, turn coordination control, improved pitch stability and:  spiral divergence control
The C-5 is designed to operate with _____ stability augmentation.  Full-time
The purpose of the safe position of the aft and forward cargo door arming switches is to ensure that the:  doors and controls are deactivated
The INS must be placed into the navigation mode prior to taxi to:  avoid inducing large errors in present position.
The door open lights for both the pressurized and unpressurized doors are located on the annunciator panel.  TRUE
The alternate braking system gets its power from the #1 hydraulic system from what system do the normal brakes receive power?  #4
ab24x
If a windshear is encountered on take-off and take-off must be continued, use 15 degrees pitch attitude to initially clear the ground.  FALSE
Make a TRT take-off when a tailwind shear or gust front a thunderstorm is anticipated.  Aircraft performance needs to be closely monitored during takeoff and climb.  TRUE
The TIT may between 950 and 960 degrees C for a maximum of (-755 mod):  30 sec
You should abort the takeoff if, during the TRT assurance check, the TIT exceeds (-755 mod):  950 degrees C
The pilot sets the throttles to approximately take-off N1 in t first 15 seconds.  You must refine this throttle setting in ____ seconds.   10
When setting power on the take-off roll, the pilot is responsible for ____, the co-pilot_____, and FE for _____.   Approximately take-off power setting; fine adjustment of take-off power; timing and monitoring.
ab26x
When the landing gear retraction is attempted with an in-transit gear position:  damage is likely to occur.
When a bogie is out of allowable pitch limits, the appropriate bogie pitch light illuminates.  In this case, gear retraction would result in:  structural damage
After wheels spin down and during landing gear retraction, the main bogies rotate ____  before retracting.  Inboard
For a main landing gear retraction malfunction which results in an “in-transit” position (barber pole), which section should the FE refer to?  Section II
Minimum flap retraction altitude (Hfmr) must be attained prior to flap retraction so that _____ is achieved.  a.  noise abatement and safety
During flap retraction, the slats begin to retract as the flaps reach less than 40%.  TRUE
With 40% flaps and slats, the maximum airspeed is:  215 KCAS OR .45 M
During departure or arrival, do not exceed ____ knots below _____ MSL  250, 10,000’

The optimum climb schedule above 10,000’ MSL is 270 knots until reaching ____.  .70 M
What are the five FSAS climb modes?  a.  manual, TOA, max angle, economy, and max rate
The FSAS may not be coupled to the autopilot until:  -   The airplane is 1500’ AFE

TRUE





 -    Initial manuevering is complete

 -    Gear and flaps are retracted

When the airplane is more than 2000’ below optimum altitude computed by the FSAS, the ____ arrow is displayed.  d.  up
What info is available to the pilot from the integrated  flight instrument system (IFIS). 

c. attitude, navigation, and performance
Antenna tilt on the weatnother radar is the most critical control.  Check that you start the climbout with ____ degrees for the initial setting.  +5 degrees

ab27x
If the FSAS is coupled to the autopilot during the climb, the cruise mode may be engaged up to ___ feet below cruise altitude.  c.  1000
If FSAS is not coupled to the autopilot during climb, the Altitude Alert Thumbwheel must be within +/- ____ feet of actual altitude before cruise mode will couple to the autopilot.  d.  300
At what point does the initial Altitude Alert as you climb to the target cruise altitude of FL 350.  b.  340
A step climb is performed when then the aircraft as burned enough fuel to allow a climb to an altitude which results in a ____ fpm rate of climb.  b. 300
What mode is selected on the weather radar when it is not needed for weather avoidance?  d.  Standby or Off
Which of the following symbols represents the landing runway on the radar CRT?  b.  2 parallel lines

ab28x 

If a tacan station is to be used to update the inertial position, the elevation angle must be:  b. less than 30 degrees
What is the minimum slant range from the aircraft to the tacan station for a valid tacan aided inertial.
-  Aircraft is level at FL 310            310 – 70   =  24  =  8 NM



-  Tacan elevation is 6503           
    3
       3      

Which of the INS(s) shown below can be used in conjunction with the # 1 tacan receiver for tacan mixing?  d. FSAS/INS
What is the maximum crosstrack distance that can be displayed on the FSAS/INS? 

c. 999.9
ab30x
Which of the following instrument approach visibility and ceiling (if req’d) minimums does the C-5 use?  c.  Cat D
For precision radar, DH is based on a HAT of 200’ and visibility no lower than RVR 24 or ½ mile visibility when RVR is not available.  TRUE
As decent from FL 350 begins and until clearance is received to descend below transition level, the pilot’s altimeter shall remain on:  29.92
The maximum airspeed for thrust reverser is 350 KCAS and minimum speed is 150 KCAS.  FALSE
Based on the information shown in the graphic below, determine Bottom of Descent FL and Down Range Error.   



Mach 
 .770


b. BOD FL = 060; Downrange error = 36



IAS    
  300


GOFL
  060/060*

( 36 DRNG 21*

21 BOD 0:03

Given:  - Ducke is waypoint 34             


   Mach
.770*


-  Altitude Alert Thumbwheels are set at 210

   IAS 

300*


-  Current time is 0525 z



   GOFL
210/210*









    (  21   DRNG  34*









   60     BOD    0:12

Based on this information, you can confirm you can be level at FL 210 over Ducke at 0540z.              TRUE
ab32x

If runway length and conditions permit, crosswind landing capability mat be improved by increasing approach speed by ____ knots or by landing with flaps ___ %.  C. 15, 40
What is the max airspeed with the landing lights extended?  C. 300 kcas
The autopilot will attempt to capture the glideslope if the horizontal nav is engaged and if the ILS is tuned and selected at the time the approach/landing mode on FSAS is engaged.  FALSE
Which of the following conditions activates the windshear warning lights?  D. If the present wind component and predicted runway wind component differ by more than 15 knots.

The audible windshear warning is activated whenever the reference groundspeed and actual groundspeed differ by more than 15 knots.   FALSE
When the approach is flown at Vapp and a flap setting of 100%, what is the AOA?  7.2
Ensure the bogie pitch light is not on before extending the landing gear.  TRUE
The word “up” will be displayed on the landing gear position indicator when the gear is:  d. up, with all door closed relays and door lock relays are in the closed and locked position respectively.
A black and white barber pole is displayed on the NLG position indicator.  In what configuration is the NLG?  D.  The NLG doors are unlocked and are not fully opened.
A pair of red wheels will be displayed on the capital NLG indicator when:  a. doors are fully opened and the gear is not down and locked.

A pair of red wheels is displayed on the capital NLG indicator.  What configuration is the capital NLG.  D.  gear is down, side brace locked, and the intercollar lock is disengaged.

A pair of green wheels is displayed on the NLG position indicatior.  The NLG is :  B.  down and locked.

A pair of green wheels is displayed on the MLG position indicator.  The MLG is:  B.

Down and locked, intercollar is engaged.

The pilot confirms the gear is indicated down when the landing gear lever is down when the indicators on the indicator controll panel show ____, and when the lights in the gear lever are ____.  D.  green wheels; off
After receiving the co-pilots report indicating the gear is down and aligned, the pilot will visually will check the position of the gear handle, the main gear alignment at zero degrees and will verify all main and nose gear position indicators show green wheels.  FALSE
With the flaps in the up position minium airspeed shall be 100% approach speed plus ____ knots.  D. 60

An aural and visual ground proxsimity warning is corrected by preforming which of the following.  C. add climb power, execute a positive pullup and climb untill the warning ceases.
For  localizer capture, on an ILS coupled approach, reduce airspeed to ____ knots or approach speed plus 20 knots (min).  C. 170
The auto pilot may be coupled throughout the approach and landing.  FALSE
With the go-around inop light on, the pitch steering  bar on the ADI comes into view.

FALSE

AB33X

The landing gear is down when the gear lever is in the down position, when the MLG position indicators are ____; when indicators show ____; and the light in gear handle is:

B. aligned; green wheels; off

In a tailwind condition, where the difference between actual and reference ground speed exceeds 15 knots:  a. do not change approach speed

During a decreasing headwind condition, where the difference between actual and reference ground speed exceeds 15 knots:  c:  increase approach speed by the amount of the difference.
When encountering a wind shear on approach, the following two actions are to be accomplished if the sink rate has not been significantly reduced (500’fpm):

 - Increase power as necessary, not to exceed engine limits

 - Increase pitch attitude to 15 to 18 degrees; remaining below stick shaker onset until                clear of the windshear.    TRUE
The proper altitude for crossing the Runway threshold is:  d. a or c (no lower than published TCH or 50’)
To avoid damaging the aircraft, do not exceed ___ bank angle below 200’; ___ bank angle below 50’; or a ___ pitch angle below 200’.  B.  15, 5, 10
Touchdown should occur 800 – 3,000 feet from the threshold.  TRUE
In order to prevent possible fan damage after touchdown, the throttles should be returned to reverse idle position before the aircraft decelerates to ___ knots.  C. 60
The spoilers are deployed after landing by following one of the procedures below:  a.  The pilot making the landing states “spoilers”.  The other pilot deploys them.
Ab34x

Allow the engine to idle at least ___ minutes before shutdown (taxi time included if N2 does not exceed ___%).  This idling allows the engine to cool slowly to prevent possible damage resulting from rapid temperature changes.  D. 5, 76
What number is entered in the Desired Track/Status display to erase all position updates during the INS/FSAS inertial position check?  A. 1
Do not tow, taxi, kneel, unkneel the aircraft for ___ minutes after INS shutdown to preclude damage to the equipment.  A. 2
While the IFF is still powered, erase the IFF Mode 4 codes by moving the mode switch to: b. zero

Ab35x

Which of the following 781 A/K entry rules is not correct.  C.  Repeat discrepencies are identified by a blue “repeat”. (should be red)
Which of the following 781 A/K entry rules is not correct.  C. No more than one block may be used to describe each discrepency
Blocks 12, 13, 15 on the 781H contain which of the following entries?


1. Pilot’s signature
2.  Aircrew Flight Time

3.  Flight Time


4. Number of landings

5. Engine Cycles
b. 3, 4, 5
Which of the following information sources are needed to complete the 781, AFORMS aircrew/mission flight data document?  C. MIS/FLT Orders
Which of the following crew members record aircrew flight time and floght conditions on the AFTO 781.  A. The pilot
____ time is logged on the 781 when a crewmember is actively performing a duty at a designated duty station for the specialty.  b. primary

Other time is logged on the 781 when a crewmember performs inflight duties related to, but not controlling, the function of his specialty.  FALSE
When a crewmember is listed on the lfight orders but not occupying a duty station conforming to one of the other 4 categories of time listed on AFTO 781, the crew member logs ____ time. 

A. other

Ab41x

When attempting to exit a vortex, it is recommended to apply power quickly but smoothly in all cases.  If engines become unstable due to unstable air, smooth throttle technique is essential.  TRUE
Prolonged operations at thrust <60% should be avoided in flight during icing conditions.  If this cannot be avoided, engines should be advanced to ___ % N1 every 10 minutes above ___ feet and every 6 minutes below ____ feet.  D. 90; 15,000; 15,000

During descent into suspected icing conditions, turn on engine anti-ice system at least ___ feet above the highest ice level in order to provide adequate warm-up time.  C. 10,000
If ice or snow are known or suspected to be on the wing or horizontal tail during landing, the approach speed should be increased 10 knots.  FALSE
The windshield wipers are most effective at speeds up to ___KCAS; the maximum speed for their adequate operation is ____ KCAS.  B. 150, 175
Take-off shall not be attempted when there is:  c. ½ inch slush, wet snow, and/or water on the runway or 3 inches dry snow.
The key to proper flight technique through turbulence is thrust.  FALSE
Which of the following autopilot modes should be used if turbulence is encountered?  

C. basic attitude

When operating the autopilot in turbulence, the goal is to maintain a constant attitude.  To fly comfortably throughout the turbulence, you should:  d. avoid push or pull control column inputs; leave the autopilot pitch wheel ina fixed position and be alert for autopilot disconnects.
Ab60x

During an emergency, when the pilot calls for the emergency checklist, the co-pilot silently reviews the boldface items for the pilot, calls out any items missed, and completes the remaining items by challenge and response.  TRUE
During an emergency, the pilot shall notify the crew and troops of the emergency, and the co-pilot shall notify:  c. all others involved
When abandoning the airplane, warning horn signals are used to notify:  a. the crew and pax
The warning horn signal for abandoning the airplane is:  a. one long sustained blast
During a ground emergency, the pilot directs the: d. crewmembers, as req’d, to fight the fire, orders evacuation, and sounds the warning horn
When a ground emergency occurs while taxiing, the pilots initial action is to: c. retard all throttles to idle.

Engine number 3 is on fire and the decision is made to evacuate the airplane.  Which escape hatches and doors should be opened?  C. left side

If an engine is on fire, the best choice for evacuation of the crew compartment is:  d. Crew entrance door, unless fire engulfs that area

Do not deploy the escape slides for evacuation for an engine fire, until engines on selected side are:  c.  shutdown

Which of the following indicate an engine fire?  B. a steady amber engine overheat and red light in the fire handle

How can you tell if an engine is overheating.  B.  an amber overheat warning light flashes

During ground operations, when an engine overheat warning flashes, retard the affected engine throttle to idle and shut down the engine.  True
On airplanes modified by T.O. 5-552, there is an optical fire detector added in the nitrogen protected area of each pylon.   True

When a compressor stall is encountered with the throttle above idle, how do you clear the stall?  a.  immediately retard the throttle to idle to clear the stall

When an airplane fire is indicated by a zone alarm light, why must the zone alarm push button be pushed immediately?  A. delays in discharging may allow the fire to progress and reduce the effectiveness of the FSS.

When an airplane fire is indicated and a zone alarm button is pushed and the fire persists, a repeated or continuous discharge of nitrogen is required.  True

On airplanes modified by T.O. 5-552, the automatic discharge of nitrogen is indicated by a flashing armed light located on the fire suppression panel at the flight engineers station.  True

On airplanes modified by T.O. 5-552, the automatic discharge function is armed when any of the engine fuel and start ignition switches are in the run and airstart position.  True

Which of the following indicate an APU fire?    D.  flashing APU fire warning light, APU fire handle and a warning horn

If the APU or external power is not available, one outboard engine (preferably #4) must be retained during an engine fire on the ground until the evacuation order is given. This insures that electrical power is available for the interphone system.  True

If an unidentifiable order is present in the airplane, make sure all crew members use 100% oxygen to insure they are not overcome by toxic fumes.  True

While employing reverse thrust for backing, interphone communications with the scanners may not be possible due to high engine noise.  True

Which of the following lists the specific engine parameters whose limits may be exceeded during periods of extended reverse thrust operations.  B.  N1, N2, and TIT
The criteria for using reverse thrust to back the C-5, are severe weather evacuation, contingency, or wartime and when other means of backing are not available.  True

AB50A
Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?  D.  engine fire

Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?  A.  engine flames out for unknown  reason

Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?  B.  engine flame out

Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?   a.  engine disintegration

Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?   b.  excessive fuel flow

Which of the following conditions require an immediate engine shutdown using the emergency engine shutdown checklist?  d.  visible fluids from an engine or pylon that cannot be stopped

Which of the following conditions require an immediate engine shutdown to prevent engine damage?  B.  excessive  engine vibration
Which of the following conditions requires immediate corrective action to prevent engine damage?  B.  Compressor stall
Which of the following conditions require an precautionary engine shutdown?  B.  low oil pressure

Prior to retarding the throttle for an engine overheat light, check the for the following engine conditions.  D.  Nacelle bleed air duct failure

Which of the following requires an immediate engine shutdown without moving the throttle?  C.  excessive vibrations

With a constant N2 and an oil pressure fluctuating, the engine should be shutdown using a precautionary engine shutdown checklist after a decrease of __________ psi or more.  D. 5psi

When it is essential to continue operation of an engine experiencing oil starvation, a rise in oil temperature accompanied by a increase in engine vibration, is indicative of a:  b.  bearing failure

At a constant N2 rpm, when oil pressure increases more than 10 psi, shutdown the engine using the precautionary engine shutdown checklist.  true

Ab50b
The airspeed limit for RAT extension is:  c. 350/.825M, whichever is more restrictive
After 4 engine flameout, in order for RAT to provide hydraulic pressure to drive the emergency generator and operate the flight controls, the airspeed must be aminimum of 175 KCAS below 15,000’ and ___ above 15,000’.  D. 190
The minimum speed to maintain flight instrument operations when RAT is supplying hydraulic pressure is ___ knots.  A. 155
The airspeed limit for RAT retrasction is ___knots or .45 mach whichever is more restrictive.  D. 180
Below 10,000’, an unassisted airstart requires the N2 to be 10% or more. TRUE
While accomplishing an unassisted airstart, maintain a minimum of ___ knots when above ____.  C. 210, 10,000’

The airspeed restriction with flaps retracted and slats extended or flaps 40% and slats any position is ___ knots or .45M whichever is less.   D. 215

The airspeed restriction with flaps 62.5% and slats extended is ___knots or .45M whichever is less.  C. 195

The airspeed restriction with flaps 62.5% and slats retracted is ___knots or .45M whichever is less.  B. 185
The airspeed restriction with landing flaps and slats extended is 195 knots or .45M whichever is less.  FALSE
The airspeed restriction with landing flaps and slats retracted is 175 knots or .45M whichever is less.  TRUE
On airplanes modified by TO –552, if an automatic nitrogen discharge occurs, the manner in which the wing fire and pylon fire checklist will change.  FALSE
When accomplishing the wing fire checklist, why must level flight be established?  A.  to prevent engine flameout when the fuel boost pumps are turned off
During an emergency descent, do not exceed an airspeed of ___ knots or .825M, whichever is less.  D. 350

Ab57x

If the CSD reconnects after being disconnected or cannot be disconnected, you should reduce power to minimum required.  FALSE
The generators have tripped off line on you climb to FL 350.  What is your first action?  
b. level off, conditions permiting
When all generators fail, what power sources are available?  C. battery, apu, emergency generator
After loss of all generators with hydraulic pressure normal in system #2, the RAT switch must be placed to retract to prevent deployment when the generators are turned off.  TRUE
When normal DC power is lost without loss of AC power, before the emergency generator is selected, you lose the main and avionics busses 1 and 2 and isolated DC buses.  TRUE

When normal DC power is lost and AC power remains, the instrument power switch must be placed to emergency:  a. to turn on the emergency generator
During electrical fire circuit isolation, the lack of communications ability between  the P, CP, and FE occurs because the P and FE lose their intercom.  FALSE
While you are preparing to isolate circuits during an electrical fire when normal hydraulic pressure remains in #2 system, why must the RAT switch be placed to retract.  D. so the RAT does not deploy when the generators are turned off
Before placing the instrument power switch to emergency during an electrical fire, why must the autopilot be disengaged?  C. abrupt pitch oscillations may occur
Prior to turning off the generators during an electrical fire, why should the instrument power switch be placed to emergency?  D. to bring the emergency generator on line before turning off the main generators
Before turning on the emergency generator during an electrical fire, why must you open the INS emergency switch CB?  D. so the pilot will have valid attitude information if INS 3 is selected
Ab49x   T/O EP’s
When the decision to abort is made, simultaneously: d. retard all throttles to reverse idle, state spoilers, and apply brakes as required
The abort distance requires the application of maximum anti-skid brakes and deployment of the ___ as soon as possible.  C. ground spoilers
After passing GO speed when an engine fails on take-off, ensure throttle are at the planned in-flight ___ as a minimum.  D. N1 RPM
The steady state TRT limit is (not mod by –755):  d. 910
If an engine failure occurs during or immediately after take-off, climb at ___ or as commanded by the G/A pitch steering bar.  C. minimum  climbout speed
After an engine failure during heavy gross weight take-offs with the gear down, the landing gear must be retracted as soon as practical because the climb gradient is reduced by 1.3%.  TRUE
 During an enroute climb an engine fails, initially adjust climb speed to ___ knots or .60 Mach, whichever is less.  D.  250

3 engine climb schedule for a weight of 550,000 – 650,000 pounds is 250 knots or .6 Mach, whichever is less.  FALSE
If an engine failur occurs during or immediately after take-off, climb at ___ or as commanded by the pitch steering bar.  C. Vmco
Ab58x  Fuel Sys EP’s/Failures
A failed 1st stage of an engine driven fuel pump causes which of the following? D. fuel bypasses the fuel heater and filter
The PUMP OUT light on the engineers panel, accompanied by normal engine operations, indicates which of the following conditions? C. 1st stage of the engine driven pump has failed
The 1st stage of the engine driven pump has failed and the main tank boost pumps are operating.  The engine will flameout if the main tank boost pumps fail.  TRUE
When no tank boost pumps are operable, which fuel tank(s) will not suction feed? D. extended range and auxiliary
During climb or cruise operation, the suction feed altitude limitations for outboard and inboard engines are: b. climbing – 12,000/20,000; cruising – 32,000/40,000
What causes the fuel pressure differential light to illuminate?  C. pressure across the fuel filter is greater than a preset value
When the fuel filter differential light illuminates, the fuel filter and heater are bypassed.  FALSE
When the sump low warning light illuminates, it indicates: d. the potential for adverse wing loading
There are about ___ pounds of fuel in the outboard main tank sumps when the sump low light illuminates.  D. 1600
The limiting speed of 280/.825M (whichever is less) must be observes when the: d. sump low warning light illuminates
The recommended corrective action for isolating a problem in a fuel quantity indicator is to disconnect and remove the indicator in flight.  FALSE

What is the indication of a main tank fill valve failed closed? D. a decrease in main tank quantity while the aux or extended range boost pumps are on
The VENT FILL light illuminates because: b. a main tank fill valve has stuck open and the vent box is 1/3 full
When the FE reports that the fuel tank pressure light is illuminated, your first response is to: d.  maintain level flight
When jettisoning fuel from extended range and aux tanks, with all boost pumps on and pumping, the dump rate per minute is ___ pounds.  d. 9000
When circumstances permit, adhere to which of the following precautions while jettisoning fuel?  A. avoid jettisoning at low altitudes, in a circling pattern, and turn on the NO SMOKING sign

Ab59x  Misc Malfunctions & Structural failures
Why must you switch to an operating INS when the one selected malfunctions?  A. to provide ADI & HIS with valid information
An overtemp in an INS on the ground should be corrected by which of the following?  D. turn off the mode selector, check the cooling fault, correct the fault, realign the INS
From the list below, select the corrective action to take when on the ground and the CDU & DICU BATT lights come on in other than the test mode.  B. turn the mode selector off and correct the fault
Which of the following answers best identifies the corrective action necessary when the MSU BATT light illuminates (in flight)?  A. decouple the autopilot from the INS, turn off the mode selector, and check that the CB’s to the INS are closed

How can you determine that an INS nav unit is operating without cooling air?  C. The INS FAN annunciator light illuminates
After checking the action code, identify the corrective action requires when malfunction codes or messages appear on the #1, #2, or #3 CDU.  A. Select the DSTRK/STS position, press the test switch/key and record the malfunction code. Repeat until malfunction codes clear or action code reappears.

How can a CADC failure be identified?  B. by the CADC annunciator light illuminating
When the pitot-static system indicates a malfunction or failure, you should accomplish which of the following?  B. crosscheck the other pitot-static instruments and disregard or deactivate the malfunctioning instrument or system
When a PRESSURE DOOR light comes on, it indicates that a: d. door is not locked or open
What restriction applies when a forward ramp not locked light comes on in flight?  A. Do not attempt to lock the ramp
A descent is required after a rapid decompression: d. to decrease the cabin altitude

What is the immediate action is required after experiencing a rapid decompression?  C. direct the crew to don their oxygen masks
Immediately after experiencing structural damage, what should the airplane configuration be?  C. present configuration
During the controllabilty check, what airplane configuration be?  B. landing configuration

Ab56x  Hydraulic Sys EP’s
Which of the following best describes the MCI 11-205 requirements when an engine driven hydraulic pump has failed?  C. no more than 1 pump on 2 non-adjacent engines should be out

What corrective action should be taken if the hydraulically driven boost pump fails in the system 1 or 4?  B. the FE turns on the electric boost pump
What corrective action should be taken if the hydraulically driven boost pump fails in system 2 or 3?  D. treat as total loss of system quantity
Hydraulic system overpressure requires that the engine be shut down when conditions permit, by accomplishing which of the following?  D. shut down the engine using the precautionary engine shutdown checklist
Why should the fire handle NOT be pulled to shut down an engine for a hydraulic system overpressure?  C. the pumps may be destroyed
After shutting down the #1 engine, hydraulic system intact, the #1 hydraulic system pressure may be restored by: d. turning on the 1-2 PTU, electric boost pump, & #1 ATM

After shutting down the #2 engine, hydraulic system intact, the #1 hydraulic system pressure may be restored by:  b. turning on the 1-2 PTU and 2-3 PTU
The #3 hydraulic system pressure can be restored by:  b. turning on 2-3 PTU and the 3-4 PTU
If the #4 hydraulic system pressure is lost and the system is intact, the #4 hydraulic system pressure can be restored by turning on the ___ & ___. D. 3-4 PTU, #4 electric pumps, #4 ATM if required
Name the two failed systems that have the greatest impact on approach and landing after the loss of #1 hydraulic system fluid quantity.  B. NLG extension and aft MLG extension
The loss of #2 hydraulic system quantity affects what two systems which would effect approach and landing during crosswind conditions. C. lower rudder and both ailerons
With the loss of Hydraulic system #2 to prevent possible destruction of the RAT, the RAT switch should be placed to:  c. retract
The loss of #3 hydraulic system fluid quantity affects the ___ & ___, which affects approach and landing.  B. upper, lower rudder
When #4 hydraulic system fluid quantity is lost, which affected systems must be considered during preparation for landing?  A. flaps, slats, & the forward MLG
Name the 2 systems that have the greatest impact on the approach and landing phase when hydraulic systems 1 & 4 fluid quantity is lost? A. flaps and normal landing gear extension
To avoid depletion of brake accumulator pressure, do not apply emergency brakes in flight. TRUE
What action should be taken if the hydraulically driven boost pump fails in the #2 or #3 system?  D. Treat the failure as a system quantity loss
Ab54x  Flight Control System failures
The limiting airspeed in light turbulence with ALDCS inoperative is ___  knots/.825M  d. 300
The limiting airspeed in moderate/severe turbulence with ALDCS inoperative is ___  knots/.74M  b. 240
If the airplane is in a clean configuration with the ALDCS inoperative when the thrust reversers are extended, limit load factor to ____ to 0.0 G with zero fuel weight up to 590,000 lbs and gross weight less than 769,000 lbs.  A. 2.25
With the flaps down and ALDCS inoperative, limit load factor to ____ to 0.0 G        a. 2.0
With the airplane configured with landing flaps and the slats retracted, limit maximum airspeed to ___ knots or .45M, whichever is less.  A. 175
With the flaps set at 62.5% and slats retracted, limit airspeed to ___ knots or .45M, whichever is less.  B. 185
Limit the airspeed to ____ knots or .45M, whichever is less, with the flaps retracted and slats extended.  A. 215
When operating the flaps without asymmetrical protection, the flap handle should be moved in ___ increments.  C. small
With slats extended and flaps up, the stall warning system (shaker & audible) schedule will be for the flaps down configuration.  TRUE
At high speed, a spoiler deflection of ___ degrees could cause structural damage.  D. 60

Ab55a/b  Landing Gear EP’s
With normal hydraulic pressure available, the desired airspeed for Emergency extension of the MLG is:  a.  100% flap approach speed + 30 knots
With the anti-skid inoperative, what is the AMC policy concerning continued operation?  D. Major command must approve operation without anti-skid, and only to a maintenance location
Where is the brake selector switch placed when the #1 and #4 hydraulic systems  are lost?  

D. emergency
With the loss of normal and alternate brakes, the emergency brake supply must be selected prior to the in-flight brake check.  FALSE
Why should the #1 hydraulic system quantity be monitored when the alternate brake supply is selected?  A. to ensure that no fluid loss occurs
Selecting emergency brakes requires you: c. not perform an in-flight brake system check
When performing an in-flight brake check, you can consider the check complete when ___, and the anti-skid switch is placed to on.  C. normal and/or alternate brakes check satisfactory
Why should you use the proper emergency procedure to lower the NLG when the EMERGENCY SW ON and both door open lights are on?  C. The NLG doors could be damaged
With the loss of the #1 hydraulic system which of the following are not operative?  B. normal steering, rudder pedal steering, alternate brakes and castering
If the NLG position indicator indicates up and does not move to the intermediate position within ___ seconds after placing the emergency extend switch to the extend position, return the switch to the normal position.  C. 10
With all emergency extend switches normal, illumination of the EMERG SW ON light requires that you:  d.  perform the emergency switch on light procedure
If any MLG emergency extend switch is in the extend position, ____ is inoperative for the affected gear.  A. normal & alternate brakes
When a MLG emergency extend switch is in the extend position, which of the following is inoperative for that gear?  A. normal or alternate brakes, and castering
After failure of the MLG position indicators, the gear may be checked for green wheels by the scanner:  b. checking the black stripe across the collars
When the bogie pitch annunciator light illuminates with the gear up, the sensors for the side brace are working properly.  FALSE
If the bogie pitch light is on or intermittent, which procedure must be performed prior to the MLG emergency extension?  D. Bogie Pitch Annunciator light on with landing gear lever up (normal hydraulic pressure not available)
There is an airspeed limitation of 170 knots for bogie rotation utilizing APU start accumulator hydraulic pressure, why does this limitation exist?  D. The accumulator pressure is too low to rotate the MLG at speeds above 170 Knots
To lower approach speed below 170 knots for bogie rotation when the APU start accumulator is the only source of hydraulic pressure, reduce gross weight by:  b. jettisoning fuel
With the MLG indicating up, when a MLG emergency extend switch is placed to extend, the MLG must indicate a change within ___ seconds.  B. 5
During MLG emergency extension, the emergency switch on light indicates that: c. the collar is locked
Rotation of the MLG during emergency extension with normal hydraulic pressure may not occur at airspeeds greater than:  d. 185 KCAS
During emergency MLG extension, if flaps will not extend to 40%, slow to:  c. approach speed for the flap setting

Ab61x Performance Into
Ground minimum control speed is defined as:  The minimum airspeed during take-off at which the airplane can lose an outboard engine and maintain directional control without exceeding a lateral deviation on the runway of 25’
Ground performance numbers are arbritary numbers that do which of the following? 

C. Replace altitude and temperature correction grids
Given: Temp +10 C, PA 500’;  Find SOME (+ .004)  1.001
Given:  KCAS 300, PA 20,000’, Ind OAT 0 C;   Find Temp Dev  +4
Given:  KCAS  300, PA 20,000’, Ind OAT 0 C; Find True OAT     -21
Given:  Temp +12 F; Find Temp in C  -12 C

Given:  Temp –8 C; Find Temp in F   +17 F   

Given:  True Mach #  .687, PA 34,000; Find KCAS  235
Given:  Baro 29.86, Fld Elev 481; Find PA of field  538
Given:  PA 28,000, Gross Wt 600,000#, Bank 30; Find Shaker Onset Speed .475 M
Given:  Alt 7,000, GW 470,000, flaps 0, bank 15; Find shaker onset speed 137
Given:  GW 560,000, PA 30,000, bank 20; Find Mach # at stall   .440
Given:  Alt 10,000, GW 525,000, Flaps 0, bank 15; Find Stall speed  136
Given:  KCAS 120, GW 400,000, Flaps 40%; Find AOA   7.0
Given:  Mach .230, Flaps 100%, Stab 6 nose up; Find AOA at which the stall warning horn sounds        20.3
Ab51x  Landing EP’s
An airspeed limit of 215 KCAS is imposed when the flaps are up and the slats are extended.  TRUE
The maximum bank angle at altitudes below ___ feet is ___ degrees.  A. 50’, 5
What is the limiting airspeed with the slats retracted and flaps at 100%?  B. 175
A limiting airspeed of 175 knots is imposed if the flap setting is 62.5% with the slats retracted.  FALSE
2 engine approach speed is charted 40% flap approach speed but no higher than Vmca2.  FALSE
The two-engine inoperative pattern speed is 40% flap approach speed plus ___ knots.  C. 40
The warning given for preparation for a crash landing is___ short blast(s) on the warning horn.  Just prior to touchdown, you will hear ___ long blast(s) on the warning horn.  B. 6, 1

Ab52x Landing EP’s, Ditching
If operating conditions permit, ditching is accomplished with ___ and the nose gear retracted.  A. landing flaps, main landing gear extended
The priority order for ditching configuration is:  d. flaps down, main landing gear down, and nose gear retracted
The prepare for ditching signal is:   d. six short blasts of the warning horns
The brace for impact signal is:  a. one long blast on the warning horns
The final approach speed for daytime ditching is:  d. 15 knots below approach speed
When ditching during daylight, after slowly retarding the throttles, fly final so as to contact the water approximately:  b. 20 knots below approach speed
If the life raft case fails to split automatically, pull the: a. D-ring
Do not manually deploy the life raft unless an attempt has been made to:  b. deploy it automatically
The alternate life raft deployment is used when No. 2 escape hatch is: b. jammed

Ab62x Take-off and climb performance
Given:  Temp +5 C, PA 2250’, No visible Moisture; Find TRT - Static N1   98.2%
Given:  Temp +5 C, PA 2250, No Visible Moisture; Find TRT – Inflight N1   98.7
Given:  TRT – STAT 98.5; Find Min Takeoff thrust N1   92.5
Given:  Runway available 12,440, GW 547,870, Temp +17 C, PA 1440; Find Reduced Take-off Static N1 for runway available    85
Given:  GW 595,710, PA 2250, Gradient 2.5%, True OAT 5 C; Find Reduced Take-off static N1 for climb gradient:  92.2
Given: TRT Static 98.1, Min Static 92.1, TRT inflight 98.6, Reduced take-off static Runway available 85.0, Reduced Take-off gradient 87.3; Compute Take-off Static N1:  92.1

Given:  Take-off static N1 92.5, Temp +17 C; Find Power reference Number (PRN): 39
Given: Take-off static N1 92.1; Compute take-off inflight N1:  92.6
Given:  Temp +5 C, PA 2250; Compute reverse thrust limiter setting:  4.06
Given:  Take-off static N1 92.1, Temp +5 C, Reduced Rolling Take-off; Compute N1 TRT assurance check TIT:  843
Given:  GW 547,870, PA 1440, Gradient 2.5%, True OAT +17 C; Find reduced Take-off static N1 for the climb gradient:  861

Ab53x Flight Controls Sys Failures pt 2
If a flight control hydraulic system off light comes on or a system switch is in the off position, the airspeed limit is ___ knots or ___ mach:  d. 350, .825
While at high altitude with the yaw augmentation inoperative, upon encountering turbulence, descend:  c. to FL 310 or below
If turbulence is encountered at high altitude with the yaw augmentation inoperative, reduce speed to between ____ & ___ mach.  A. .70 - .75
When the yaw augmentation is inoperative, What is the airspeed limitation?  B. 300 knots or .825 Mach

Ab63x Take-off & Climb Performance
Given:  Winds 140/15knots, RWY 170; Find the crosswind component:  7.5
Given:  PRN 48, Temp +5 C, PA 2250; Find GPN:   5.15
Given:  PRN 48, Temp +5 C, PA 2250: Find APN:   6.3
Given:  Wind 15 knots, Gust 27 Knots; Compute rotation speed increase:   10 knots
Given:  GPN 5.10, GW 595,710, Flaps 40%, Rotation incr 0, Slope 0, Calculated Wind 6.5 Knot HW, RCR 23, RSC 0; Find CFL:    5850
Given:   RWY Avail 2645, RSC 0, RCR 23, Calculated Wind 6.5 knot HW, Slope 0, Rotate incr 0, Flaps 40%, GPN 5.10; Find Maximum Take-off weight limited by CFL:  410,000

Given:  APN 6.35, Gradient 2.5%, Flaps 40%, Rotate incr 0; Find maximum GW for 3-engine climb:   680,000
Given:  APN 6.25, GW 595,710, Wind N/A, Rotate Incr 0; Compute climbout factor:  70
Given:  RWY Available 12,645, CFL 5850, Distance to obstacle 6,144, Obstacle height 2750, Field Elevation 2503, Slope 0, Gear Correction 0, Climbout Factor 70; Compute height at obstacle:   425
Given:  APN 6.25, RCR 23, Crosswind 7.5; Compute Vmcg:  78
Given:  GPN 5.10, GW 595,710, RWY Available 12,645, Flaps 40%, Slope 0, Calculated Wind 6.5 HW, RSC 0, RCR 23; Compute Refusal speed:   162

Given:  GPN 5.10, GW 595,710, Flaps 40%; Compute rotation speed:   125
Using the correct chart in the data performance book, what entry must be made for the calculated maximum braking speed for Take-off?   

Given:  GW 547,870, PA 1440, True OAT +17 C, Flaps 40%, Slope 0, Wind Component 15 knot HW:   a: ( mark
Given:  RWY Avail 12,440, RSC 0, RCR 23, Calculated wind 6.5, Slope 0, Rotate incr 0, Flaps 40%, GPN 5.05; Find T/O GW limited by CFL:   820,000
Given:  APN 6.25, Gradient 2.5%, Flaps 40%, Rotate incr 0; Find maximum GW for 3-engine climb:   675

Given:  RWY Avail 12,440, CFL 4750, Distance to Obstacle 3440, Obstacle Height 1391, Fld elev 1378, slope 0,Gear Correction 0, Climbout factor 64; Find height at obstacle:   470 (?)

Using the correct chart in the data performance book, what entry must be made for the calculated maximum braking speed for Take-off?

Given:  GW 595,710, PA 2250, True OAT +5 C, Flaps 40%, Slope 0, Wind Component 13 knot HW:   d. 226 knots
Ab64x Take-off & Climb Performance pt 3
Given:  APN 8.80, GW 595,710, Flaps 40%; Find Air Min Control speed (Vmca/shaker):  119
Given:  GPN 5.10, GW 547,870, Flaps 40%, Rotate Incr 0, Slope 0, Calculated Wind 6.5 HW, RSC 0;  Find Take-off ground run:  4400
Given:  CG 35%, Flaps 40%, Rotate incr 0; Find take-off stab trim setting:  2.00
Given:  GW 595,000, Flaps 40%; Find Vmco:  138
Given:  GW 547,870, Flaps 40%; Find Vfmr:   158
Given:  GW 547,870; Find Approach speed:   129
Given:  GW 595,710; Find Go-around speed:   149
Given:  PA 1440, Wind component 13 HW, True OAT +17 C; Find Tire Limit speed:  181 (?)

Given:  Approach speed 135, SOME 1.023, Wind Component 13 HW; Find reference Ground Speed:   125
Given:  RCR 12, GW 600,000; Find Runway Condition Factor:  3.55

Given:  True OAT +5 C, PA 2250, GW 595,710, Flaps 100%, Gust 0, Calculated Wind 6.5 HW; Find Flare Distance:   1380’
Given:  True OAT +17 C, PA 1440, GW 547,870, Flaps 100%, Gust 0, Slope 0, Calculated wind 6.5 HW, RCF 1.0; Find Landing Ground Roll:   1700
Given:  Distance from Departure end of RWY 3440, Climbout factor 64.0, Flaps 40%, Effective Obstacle Height 13, Field Elev 1378; Find Flap Retraction Height for Obstacle:   2378’
Given:  PA 2250’, Wind 13 HW, True OAT +5 C; Find Tire limit speed:   183
Bg11x FSAS
Given: Climb mode is engaged, airplane is climbing through FL 245, Altitude Alert Thumbwheel is set at 250, Altitude clearance to a higher altitude is received.  

  Which of the following DICU thumbwheel settings could be used without causing the autopilot to disengage?   D. 330
Which of the following INS CDU(s) should be used to key in the necessary data to by-pass an intermediate waypoint?   C. FSAS/INS
Waypoint 0, when loaded, always corresponds to the:  a. airplanes present position
During the climb, an up arrow is displayed if the airplanes altitude is more than 2000’ above the optimum altitude.   FALSE
The 5 FSAS climb profiles are economy, maximum rate, maximum angle, manual, and enroute.   FALSE
During a waypoint change involving a large heading change, ensure the AFCS HOR NAV mode is disengaged before pressing the ___ key.   D. WCHG
If the FSAS is coupled to the autopilot during the climb, the cruise profile may be engaged up to ___ feet below the cruise altitude.   C. 1000
If the FSAS is configured properly, altitude alerts are provided at ___ feet below the cruise altitude during a climb.   C. 1000 & 300
Based on the information shown, determine the downrange error and the downrange waypoint.  

   ( 36  DRNG 21*                  A. Down range error = 36; Downrange waypoint = 21
Given:  Bebop  is entered as waypoint 12, Altitude Alert thumbwheels are set at 180, the current time is 2120z.  


( 0  DRNG 12*

51 BOD  0:10

Based on this information, you can confirm you can be level at 12,000’ over Bebop intersection at 2130z.       TRUE

BG12X

1. T or F  Weather penetration is the primary purpose of the color weather radar.  False

2. The color weather radar display uses different colors to differentiate the intensity of the radar return.  Which color indicates severe weather or heavy precipitation?
a. Red

b. Blue

c. Green

d. Yellow

3. When turning off the radar during the Before Leaving Airplane checklist, both pilots should turn off their______ prior to turning off the radar function selector switches on the radar control panels to ensure proper degausing of the radar indicators.

a. INS CDUs

b. Pencil/fan switches

c. Range selector switches

d. Antenna stabilization switches

4. Before testing the color weather radar, you must verify that the selected aircraft stabilization reference is operating.  The selected INS must be in alignment state ______ or less before you can check for antenna stabilization and alignment.

a. nine

b. eight

c. six

d. five

5. In addition to avoiding weather, the weather mode is used for :

a. long range mapping

b. airborne testing of the radar

c. short range terrain mapping

d. beacon painting of other aircraft

6. When the color weather radar is to be used for long range terrain mapping, the function selector should be in which mode?

a. WX

b. BCN

c. Map 1

d. Map 2

7. Short range terrain mapping is recommended only when the range is ______miles or less.  When the range is greater, long range terrain mapping should be used.

a. 150

b. 100

c. 75

d. 50

8. When the radar is in the terrain mapping modes, lakes rivers and bays have very little reflectivity.  This means that they will appear on the display as:

a. blue holes

b. black holes

c. green areas

d. yellow areas

9. When the radar is in the beacon mode, what information is not presented on the indicator?

a. range rings

b. weather or ground targets

c. normal marker delay indication

d. alphanumerics showing range selected

BG13X

1. Radar is fundamentally a distance measuring system using the principle of:

a. Loran

b. Radio echoing

c. Induced precession

d. Radio frequency variation

2. T or F  On the radar indicator weather targets tend to be cellular and solid in appearance whereas ground targets paint as blank spots.  False
3. The single most important control to effectively display weather is the:

a. gain control

b. slew control

c. function control

d. antenna tilt control

4. Radar detects only the presence of precipitation not turbulence.  In addition to the probability of encountering storm associated turbulence several thousand feet above a storm, you should expect lateral turbulence a minimum of what distance from a storm.

a. 10 nm

b. 15 nm

c. 20 nm

d. 25 nm

5. T or F  The primary role of the weather radar is weather analysis and avoidance.  True
6.  The antenna radiation hazard area can best be described by which of the following:

a. It extends 76 feet beyond the radar antenna

b. The area is a semicircular area extending 43 feet forward of the radar antenna

c. They are semicircular areas extending 34 and 46 feet beyond the radar antenna

d. They are semicircular areas extending 36 and 43 feet forward of the radar antenna

BG14X

1. If electrical power is available to the aircraft, the pilots/copilots VSFI command marker slew switches located on the AFCS panel are powered when:

a. the respective pushbutton switch is on

b. only the master power switch is on

c. the vertical or horizontal navigation modes are engaged

d. the respective IAS, Mach or Altitude Hold modes are engaged

2. To ensure that the AFCS is off before takeoff check that the:

a. AFCS master power switch is off

b. Pilots AFCS annunciator lights are off

c. Disengage switch on the central panel wheel or throttles has been depressed

d. AFCS master power, Pitch, Lateral and Autothrottle switch lights are off

3. Using the Lateral or Pitch modes of the autopilot requires that the:

a. vertical navigation and horizontal navigation modes be engaged

b. respective augmentation system be operational

c. pilot AFCS annunciator lights be illuminated

d. autoland mode be operational

4. Wait at least ______ after depressing the master power switch before engaging the autopilot pitch mode.  Failure to delay engagement may result in an undesirable pitch down.

a. 10 seconds

b. 30 seconds

c. 45 seconds

d. 1 minute

5. The lateral mode of the autopilot will engage engage when there are less than two pounds of roll force applied to either control wheel and when the:

a. lateral augmentation system is off

b. yaw augmentation system is off

c. master power switch is off

d. turn knob is in the detent

6. When the lateral mode is engaged, the turn knob:

a. overrides all lateral modes

b. will not override any other lateral modes

c. is inhibited if any other lateral submode is engaged

d. is inhibited when the horizontal navigation mode is engaged 

7. The CWS is engaged and the aircraft is in a bank.  The control wheel is relaxed and the autopilot rolls wings level and maintains the heading.  When this happens the bank angle is less than: 

a. 5 degrees

b. 9 degrees

c. 3 degrees (A model) or 7 degrees (B model)

d. 7 degrees (A model) or 3 degrees (B model)

8. The CWS is engaged and the aircraft is in a bank.  The autopilot maintains the current bank angle when the control wheel is released.  When this happens the bank angle is greater than:

a. 5 degrees

b. 9 degrees

c. 3 degrees (A model) or 7 degrees (B model)

d. 7 degrees (A model) or 3 degrees (B model)

9. When selecting horizontal modes on the navigation selector panel remember that the heading mode: 

a. is inhibited when either VOR/ILS or ILS modes are engaged

b. is inhibited when any other horizontal mode is engaged

c. operates in conjunction with all other horizontal modes

d. has priority over all other horizontal navigation modes

10. If attitude capture is engaged when the pilot’s VSFI command marker is on the present altitude, the autopilot:

a. use will impress an evaluator

b. establishes the last climb or descent pitch attitude

c. disengages altitude capture and engages altitude hold

d. transfers to heading mode regardless of the modes selected on the pilots NSP

11. In areas of turbulence and thunderstorms, it is recommended that the autopilot be used as follows:

a. maintain a fixed pitch control knob position

b. the autopilot pitch control knob should be used to make all pitch changes

c. help the autopilot by applying push or pull inputs on the control column to decrease the exposure to mistrim

d. the altitude hold mode or mach hold mode should be disengaged and the autopilot should be used in the basic attitude modes

12. When altitude capture mode is engaged, the autopilot maintains the existing pitch mode, the existing pitch attitude, and at the lead or flare point, disengages the existing pitch mode.  When the selected altitude is reached the autopilot :

a. disengages the altitude capture mode and engages the altitude hold mode

b. disengages the altitude capture mode and engages the vertical navigation mode

c. reengages the pitch mode that existed at the time when altitude capture was engaged

d. levels the airplane at the selected altitude and engages the horizontal navigation mode

13. Before engaging the vertical navigation mode during an ILS coupled approach, engage the FSAS App/Ldg mode and:

a. tune and identify ILS 1 or ILS 2

b. disengage the altitude hold mode 

c. select the appropriate ILS or the NSP

d. tune and identify ILS 1 or ILS 2 and select the appropriate ILS on the NSP

14. Why should you delay engaging the vertical navigation mode on an autopilot coupled ILS approach?

a. To prevent the autopilot from capturing the localizer

b. To prevent an overload in the pitch trim system

c. To allow the ILS to be tuned and identified

d. To prevent a false glide slope lock on

15. Which of the following does not occur when the autothrottle mode is engaged?

a. direct throttle control is available using the VSFI command markers slew control

b. the mach hold, IAS hold and the alpha hold submodes are armed

c. the autothrottle On light comes on

d. the IAS pitch mode remains engaged

16. The lowest minimums approved for an autopilot coupled category I ILS approach are:

a. circling minimums

b. the same as the lowest published PAR minimums to the same runway

c. a category I approach decision height or no lower than 200 feet AGL

d. a category II approach decision height or no lower than 100 feet AGL
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1. When beyond command and control capability the aircraft commander may deviate from MCI 11-205 under the following conditions.

a. when discretion is used 

b. when directed by the local base commander

c. when necessary to protect the crew and airplane 

d. when necessary to comply with an ATC clearance

2. Submit ALDCS waiver requests for home station departures through:

a. normal command and control channels

b. the wing commander at the local base

c. HQ AMC standardization division

d. Your immediate supervisor

3. Identify the statement below that is true concerning MCI 11-205, Volume 4 MEL and Aircraft Operating Restrictions.

a. after exploring all options, the aircraft commander considers it essential to operate beyond a particular restriction.  He/she uses the command and control channels for coordination with the appropriate standardization function

b. MCI 11-205, Volume 4 MEL and Aircraft Equipment Restrictions includes all equipment or systems that are essential to airworthiness

c. MCI 11-205, Volume 4 MEL and Aircraft Equipment Restrictions applies during contingency ops only

d. MCI 11-205, Volume 4 MEL and Aircraft Equipment Restrictions contains aircraft and NAF restrictions
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1. T or F  If during the electrical fire check list the isolated bus switch is turned off there are still some powered engine instruments and warning lights in operation to monitor engine performance.  False

2. A failed first stage of the engine driven boost pump causes which of the following?

a. the engine flames out

b. the engine runs at reduced power 

c. fuel bypasses the second stage 

d. fuel bypasses the fuel heater and filter

3. The pump out light on the engineers panel is on and the engine is operating normally.  What does this indicate?

a. loss of No.1 or No.4 sump pump

b. the failure of the first pump in the main tank

c. loss of the second stage of the tank boost pump

d. the failure of the first stage of the engine driven fuel pump

4. T or F  The first stage of the engine driven fuel boost pump is inoperative and the main tank boost pumps subsequently fail.  The engine will continue to run.  False

5. An engine oil pressure increase of over ______ psi while N2 RPM is constant requires the engine to be shut down if it is not required to maintain flight.

a. 5

b. 10

c. 15

d. 20

6. The min oil pressure for safe operation is _____ psi.

a. 25

b. 20

c. 15

d. 10

7. T or F  When operating on substandard runways dust ingestion into the engines may occur at speeds up to 100 knots with engine power above reverse idle and below 20 knots at reverse idle.  True

8. T or F  Extending the inboard thrust reversers in flight while the flaps are deployed will cause large changes in airplane lift.  True
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1. After an APU cont switch is placed to stop during inflight shutdown, the inlet door will not close until the airspeed is reduced below:

a. 170 KCAS

b. 180 KCAS

c. 280 KCAS

d. 285 KCAS

2. T or F  During an APU fire, the PA system should be used to communicate with troops/crew not on interphone due to the high sound level of the warning horn.  True
3. T or F  Prior to starting ATM units, ensure that the position of the flap handle is the same as the actual position of the flaps and flap indicator.  True
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1. The primary function of hydraulic system No.2 and No.3 is to supply hydraulic power for the:

a. utility systems

b. primary flight controls

c. landing gear

d. secondary flight controls

2. The RAT is provided in the No.2 hydraulic system to provide emergency hydraulic pressure for which of the following:

a. emergency pitch trim

b. emergency aft MLG operation

c. operation of limited flight controls 

d. emergency operation of the 1-2 PTU

3. Starting an engine without the use of the hydraulic suction system may be accomplished when:

a. an alternate starting sequence is used

b. an ATM is not operational 

c. air starting an engine

d. absolutely necessary

4. With a failed engine driven hydraulic pump, what is the MCI 11-205 takeoff restriction?

a. only one pump may be out provided that all PTUs are operating

b. one pump on two non adjacent engines inoperative

c. two pumps may be out on any engine 

d. no pumps may be out 

5. Which does not take place when an engine fire handle is pulled?

a. the suction line cutoff valve closes

b. the pressure line shutoff valve closes

c. both engine driven hydraulic pumps are depressed 

d. the thrust reverser pressure line shutoff valve closes

6. The No.2-3 PTU is located:

a. on the forward spar of the center wing beam

b. on the aft spar of the forward wing beam

c. in the No.2 system service center

d. in the No.3 system service center

7. The RAT may be deployed at airspeeds up to:

a. 350 /.825 mach

b. 350 /.79 mach

c. 300 /.79 mach

d. 300 /.77 mach

8. The max airspeed for extending the RAT is _____ KCAS and the RAT may not retract above ______ KCAS.

a. 350 ; 180

b. 350 ; 170

c. 300 ; 180

d. 300 ; 170

9. The RAT will automatically deploy in flight if the RAT control switch is in the auto position and both _____ CSD underspeed relays are deenergized or the generator switches are turned off.

a. inboard

b. outboard

c. inboard and either outboard

d. outboard and either inboard

10. Inflight hydraulic system servicing can be accomplished through the component located at the  No.___ hydraulic system service center.

a. 1

b. 2

c. 3

d. 4

11. Two or more MADAR printouts of excessive case drain flow of a PTU indicate:

a. the possibility of an impending PTU failure

b. the PTU is being properly lubricated

c. the case drain line is not clogged

d. normal operation

12. If a hydraulic driven boost pump fails in hydraulic system No.1 or system No.4 turn on the:

a. adjacent PTU

b. electric driven hydraulic suction boost pump

c. MADAR and monitor the hydraulic temperatures

d. adjacent PTU then shut down the hydraulic pumps

13. What corrective action should be taken if the hydraulically driven boost pump fails in the No.2 or No.3 system?

a. turn on both boost pumps

b. turn on the electric boost pump

c. turn on the 2-3 PTU or the 3-4 PTU

d. treat the failure as a system quantity loss

14. A hydraulic system is overpressurized at:

a. 3000 psi

b. 3150 psi

c. 3200 psi

d. 3400 psi

15. When hydraulic system overpressure occurs and mission conditions allow shutdown you should accomplish which of the following:

a. turn on the adjacent system PTUs to reduce the overpressure before shutdown

b. shut down the engine using the Precautionary Engine Shutdown checklist

c. shut down the engine using the Emergency Engine Shutdown checklist

d. pull the fire handle to shut down the engine immediately

16. The fire handle must not be pulled to shut down an engine experiencing hydraulic system overpressure because:

a. the pumps will remain on

b. no fire exists in the engine

c. the pumps will be destroyed

d. an extinguishing agent is sprayed in the engine

17. With the hydraulic system intact and the No.1 engine shut down, hydraulic system pressure may be restored by:

a. placing the hydraulic pump switches to normal with the engines windmilling above 20% N2 

b. turning on the 1-2 PTU and the No.1 electric boost pump and the No.1 ATM if required

c. resetting the breakers and turning the pumps on

d. turning on the No.1 electric boost pump

18. Identify the two systems that have the greatest impact on the landing after the loss of No.1 hydraulic system fluid quantity.

a. NLG extension and aft MLG extension

b. Forward and aft MLG extension

c. NLG and forward MLG extension

d. Forward MLG extension and flaps

19. When the RAT is deployed either manually or automatically the electric circuit to the ______ PTU is deenergized/open.  This action makes the PTU inoperative regardless of PTU switch position.

a. 1-2

b. 2-3

c. left

d. right

20. The loss of No. 1 and No.4 hydraulic system fluid quantity causes the greatest impact during the approach and landing phase to which two systems?

a. the ground spoilers and inboard elevators

b. normal landing gear extension and flaps

c. the MLG caster powerback collars

d. flaps and emergency brakes 
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1. What provides a means to drive the engine generator?

a. bus tie contactor

b. constant speed drive

c. generator contactor unit

d. generator line contactor

2. What provides voltage regulation, control and automatic protection for the engine generator?

a. bus tie contactor

b. bus protection panel

c. generator control unit

d. generator line contactor

3. What component in the engine generating system provides a means of connecting or disconnecting the generator to or from its respective buses?

a. generator line contactor

b. generator control unit

c. generator switching unit

d. generator disconnect unit

4. The component in the engine generating system that provides a means of connecting the generator to the tie bus or provides a means for another source of power to power the associated main buses is the:

a. bus tie contactor

b. generator line contactor

c. bus connector contactor

d. generator connector unit

5. To prevent damage to the CSD and/or engine if a CSD Fail light comes on:

a. disconnect the CSD

b. shutdown the engine 

c. open the bus tie contactor

d. reduce the N2  RPM to idle

6. T or F  A Generator Fail light comes on when the respective generator has experienced a mechanical failure.  True
7.  A Generator Out light can be caused by:

a. mechanical failure

b. low oil pressure or high oil temperature

c. a CSD or generating system component malfunction

d. high oil pressure in the CSD which trips the high oil pressure switch

8.  If a Generator Out light stays on after the generator control switch is placed to the off position, it indicates that a(an) ______ has occurred.

a. overvoltage

b. differential fault

c. CSD overspeed

d. generator failure

9. Generator differential faults may be reset in flight if they were caused by:

a. a lightning strike

b. a CSD underspeed

c. a fault in the generator

d. improper operating techniques

10. A loss of normal DC power while AC power is available is indicated by the isolated DC bus Off light and the ______coming on.

a. emergency power

b. main DC bus off

c. battery

d. open

11. If a loss of normal DC power occurs with AC power still available, the emergency generator does not come on automatically because AC power is still powering the:

a. tie bus power relay

b. main DC bus off relay

c. isolated bus power relay

d. emergency bus power relay

12. The isolated bus power switch is provided for use during:

a. emergency generator operation

b. normal electrical operation

c. transformer rectifier failure

d. monitor bus operation

13. T or F  If a fire is determined to be of electrical origin attempt to isolate the faulty circuit first.  True
14. If the faulty electrical circuit cannot be quickly identified:

a. wait until the faulty circuit can be identified

b. perform the electrical fire check list

c. depressurize the airplane

d. ventilate the airplane

15. During the electrical fire isolation procedures _______ is deenergized when the instrument power switch is placed to emergency.

a. Nav AC bus No.1

b. Isolated AC bus No.3

c. Emergency DC bus No.1

d. Forward main AC bus No.2

16. If a fire is determined to be of electrical origin:

a. ventilate the airplane immediately

b. depressurize the airplane immediately

c. attempt to isolate the faulty circuit first

d. turn off all electrical power immediately
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1. Maximum aileron travel corresponding to a 65 degree control wheel rotation in either direction is:

a. 25 degrees down and 15 degrees up

b. 30 degrees down and 20 degrees up

c. 25 degrees up and 15 degrees down

d. 30 degrees up and 20 degrees down

2. The ALDCS should be turned on:

a. after takeoff

b. when directed by the pilot

c. before takeoff and during flight

d. before encountering turbulence

3. The ALDCS uses control inputs to the ailerons and inboard elevators to:

a. increase wing life

b. increase flight control sensitivity

c. assist the pilot by boosting control system inputs

d. enable the use of the autopilot during turbulence

4. The limiting airspeed in light turbulence with the ALDCS inoperative is _____knots/.825 mach.

a. 200

b. 240

c. 270

d. 300

5. With the ALDCS inoperative, limit the airspeed in moderate/severe turbulence to _____knots/.825 mach.

a. 240

b. 270

c. 300

d. 330

6. If the airplane is in a clean configuration with the ALDCS inoperative, with the thrust reversers extended, limit the load factor to______ to .0g with zero fuel weight up to 590,000 pounds and gross weight less than 769,000 pounds.

a. 2.25

b. 2.0

c. 1.5

d. 1.0

7. With the ALDCS inoperative, limit the load factor to ______ to 0.0g with the flaps down.

a. 1.5

b. 2.0

c. 2.25

d. 2.5

8. A spoiler deflection of ______degrees at high airspeeds could cause structural damage.

a. 60

b. 22.5

c. 12.5

d. 3

9. T or F  During emergencies involving three bus operation or loss of complete DC power, the manual pitch trim is inoperative because 28 volt isolated DC power is not available to energize a solenoid operate shutoff valve to the pitch trim.  False
10. The yaw augmentation manual trim provides up to ______degrees of rudder deflection in approximately ______ seconds and bypasses the normal rudder stop system

a. 25 ; 1

b. 25 ; ½

c. 20 ; 1

d. 20 ; ½

11. When the yaw augmentation is inoperative, what is the airspeed limitation?

a. 320 knots or .835 mach

b. 300 knots or .825 mach

c. 270 knots or .72 mach

d. 250 knots or .70 mach

12. If turbulence is encountered at high altitude and the yaw augmentation becomes inoperative, reduce speed until it is between______ and ______ mach.

a. .69 ; .73

b. .70 ; .75

c. .71 ; .77

d. .72 ; .79

13. Should turbulence be encountered at high altitude while the yaw augmentation is inoperative, descend:

a. to FL310 or below

b. to FL350 or below

c. to below 10,000 MSL

d. until clear of turbulence

14. The FSAS climb modes permit five different types of climbs.  They are the:

a. minimum distance, time of arrival, minimum fuel, minimum time, and optimum economy

b. maximum angle, maximum rate, , time of arrival, economy, and optimum range

c. manual, maximum range, minimum fuel, , time of arrival, and maximum angle

d. manual, , maximum angle, economy, maximum rate, and time of arrival

15. After the gear and flaps are retracted and the initial maneuvering is complete, the FSAS may be coupled to the autopilot, provided that the aircraft is at least ______feet above the loaded field elevation.

a. 500

b. 1000

c. 1500

d. 2000

16. When operating the flaps without asymmetric protection, the flap handle should be moved in _____ increments.

a. large

b. small

c. 10 degree

d. 20 degree

17. T or F  Those emergencies that require 3-bus operation or loss of complete DC power do not have pitch trim capability.  False
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1. The emergency electric override switches function in series with the nose landing gear emergency extend switch to:

a. override the door closed sequence control valve

b. override the output side of the forward main AC bus relays to extend the NLG

c. extend the main landing gear

d. extend the nose landing gear if the switch cards or relays fail to function normally

2. The emergency hydraulic brake light (EMER HYD) comes on when the brake supply selection switch is in the emergency position, if the emergency accumulator is providing a minimum of:

a. 1300 psi

b. 1500 psi

c. 2850 psi

d. 3150 psi

3. To avoid induce acceleration errors, after selecting the off position on the INS, the airplane must not be kneeled for:

a. 1 minute

b. 2 minute

c. 3 minute

d. 4 minute

4. Before kneeling ensure that all landing gear position indicators show which of the following:

a. red wheels

b. green wheels

c. black hash marks

d. yellow hash marks

5. Which one of the following is true when the warning light on the landing gear lever is on with the landing gear lever in the down position?

a. The NLG is not centered and one or more or of the MLG caster/powerback positioning collars are not locked

b. The MLG are not centered and one or more or of the MLG caster/powerback positioning collars are locked

c. The NLG is not centered and one or more or of the MLG caster/powerback positioning collars are locked 

d. The NLG is not in the down position and one or more or of the MLG caster/powerback positioning collars are not locked

6. Before the airplane is kneeled, which light(s) must be on?

a. both MLG Free lights

b. both MLG Center lights

c. the left MLG Free light only

d. the right MLG Free light only

7. When are MADAR inflight landing gear troubleshooting procedures used?  When directed by a checklist or T.O. 1C-5A-1, Section III and:

a. when directed by MCI 11-205, Volume 3 

b. time and operational conditions permit

c. no other malfunctions have occurred

d. AMC/DOV approval is obtained

8. Where are the inflight troubleshooting procedures located?

a. the MADAR frames

b. T.O. 1C-5A-102-1

c. MCI 11-408

d. MCI 11-205

9. The alternate main landing gear retraction procedure (standard configuration) can be used if one landing gear remains in a _____ indication:

a. green wheels

b. bogie pitch

c. red wheels

d. kneeled

10. T or F  The alternate landing gear retraction procedure (non-standard configuration) can only be used when the mission requirements dictate that the mission be continued and two or more landing gear cannot be retracted normally.  False
11. Why is the inflight brake system check required after opening and closing a landing gear control circuit breaker?  The reason is to ensure that the:

a. brakes are cool enough to make a safe landing

b. brakes have sufficient kinetic energy for landing

c. brake system seven port valve is positioned to allow metered pressure to the brakes 

d. emergency isolation and rotate gear down valves are positioned to supply brake pressure
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1. Failed fuel quantity indicators are not to be removed inflight.  To do so could cause:

a. fire or an explosion

b. damage to the interior

c. damage to other indicators

d. damage to fuel tank boundary connection

2. Fuel leaks may be indicated by one or more pressure low lights coming on and/or:

a. a fuel pump failure light coming on

b. a rapidly decreasing fuel quantity indicator

c. one or more erratic fuel quantity gage indication

d. the associated boost pump automatically coming on 

3. If a vent valve pushbutton has been depressed to correct the overpressure or underpressure of a wing, what should be considered?

a. landing as soon as practicable

b. entering the discrepancy in the 781

c. shutting off the nitrogen to the affected wing

d. depressing the pushbutton again to close the vent valve 

4. Precautions to observe while jettisoning fuel are:

a. avoid jettisoning at high altitudes and stay clear of populated areas

b. jettison at low altitude, turn on the no smoking sign and jettison in a circular pattern

c. avoid jettisoning at low altitudes, turn on the no smoking sign and use a descending circular pattern

d. avoid jettison at low altitude, in circling descending patterns and turn on the no smoking sign

5. When the Main Sump Low warning light comes on, slow the airplane to 280 knots/.825 (whichever is less), advise the engineer to take corrective action, and if possible:

a. initiate a slow climb

b. maintain level flight

c. initiate a slow descent

d. return to your departure base

6. The Main Sump Low warning light alerts the crew to possible adverse wing loading.  This twisting force may occur in flight at airspeeds above _____ knots when there is fuel in the extended range and auxiliary tanks and the main tank quantity is low.

a. 325

b. 300

c. 280

d. 250
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1. When the flight engineer reports an indication of a left or right duct overheat, the pilot will conduct an immediate scan of the affected _____, _____ and the _____ for smoke or fire.

a. wing, wheel well, environmental compartment

b. wing, pylons, environmental compartment

c. wing, wheel well, troop compartment

d. wing, pylon, troop compartment

2. If a bleed duct overheat is accompanied by an engine overheat, engine fire, or FSS fire warning indication, a _____ fire may exist.

a. pylon

b. fuselage

c. troop compartment

d. relief crew compartment

3. The overpressure safety valves start to open at a cabin differential of 8.4 psi.  They are designed to prevent the cabin differential from exceeding _____ psi.

a. 9.5

b. 9.0

c. 8.7

d. 8.5

4. The emergency depressurization mode is designed so that the airplane depressurizes from an initial cabin altitude of 4,000 feet equalizing with an airplane altitude of 30,000 feet (8.3 differential pressure) in approximately ______ seconds.

a. 20

b. 30

c. 45

d. 60

5. T or F  Automatic control of the pressurization system is not lost during 7 bus or 3 bus operation.  False
BG26X

1. The FSS has control and indicator panels at the:

a. pilots station, the nose wheel well, and the troop compartment

b. pilots station, the nose wheel well, and the cargo compartment

c. flight engineer station, the nose wheel well, and the cargo compartment

d. flight engineer station, the nose wheel well, and the troop compartment

2. The liquid nitrogen used for the fuel tank pressurization system is stored in _____ dewars mounted in the wing to fuselage fairing.

a. 2

b. 4

c. 5

d. 8

3. If a fire persists in a zone protected by nitrogen fire suppression, a repeated discharge of nitrogen into the affected compartment may be accomplished:

a. only when the discharge light is on

b. prior to the discharge light going off

c. only after the discharge light goes off

d. prior to pushing the zone alarm button

4. On A-model aircraft if a fire is detected by the FE1301 fire detection system in a manned area (cargo, environmental, or center wing):

a. the fire must be fought with hand held fire extinguishers in manned area

b. delay discharging the FE1301 until visual confirmation can be made of each compartment

c. attempt to fight the fire with hand held fire extinguisher before discharging the FE1301

d. unless immediately confirmed to be a false indication, discharge the FE1301 into the appropriate area

5. When using a portable oxygen bottle at a cabin altitude of 25,000 feet, the regulator should be positioned to:

a. 30M

b. 42M

c. NORM

d. EMERG

6. 6. When using a portable oxygen bottle at a cabin altitude of 36,000 feet, the regulator should be positioned to:

a. 30M

b. 42M

c. NORM

d. EMERG

7. Due to thermal expansion of trapped gasses, the oxygen system pressure may reach a maximum of (1).  If this reading is above the normal stabilized pressure it must be bled down to a maximum of (2).

a. (1) 275 psig (static), (2) 225 psig (static)

b. (1) 400 psig (after stabilization), (2) 425 psig (static)

c. (1) 450 psig (after stabilization), (2) 425 psig (static)

d. (1) 450 psig (static), (2) 400 psig (after stabilization)
8. T or F  On airplanes modified by T.O. 1C-5-552 there is a smoke detector added in the nitrogen protected area of each pylon.  False
9. On airplanes modified by T.O. 1C-5-552 what indication will you receive to tell you that nitrogen is automatically being discharged?

a. the warning horn will sound

b. the armed light on the fire suppression control panel will flash

c. the appropriate zone alarm pushbutton will illuminate

d. the automatic nitrogen discharge light on the fire suppression panel will illuminate

10. T or F  On airplanes modified by T.O. 1C-5-552 the automatic nitrogen discharge function is armed when any of the engine fuel and start ignition switches are in either the Run or Airstart position.  True
11. The portable oxygen bottle regulator is positioned to normal for altitudes:

a. up to 30,000 ft

b. above 45,000 ft

c. 30,000 to 42,000 ft

d. 42,000 to 45,000 ft

12. T or F  On airplanes modified by T.O. 1C-5-552 there is an optical fire detector added in the nitrogen protected area of each pylon.  True
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